Dry Run 1:

Name:

choice

valid

start

currentNumber

runningTotal

False

Output

The output is: 10




Dry Run 2:

Name:

choice

valid

start

currentNumber

runningTotal

False

10

Output




Name:

Dry Run 3:
choice valid start currentNumber runningTotal
False 6
c
a

Output




Dry Run 4:

Name:

choice

valid

start

currentNumber

runningTotal

False

Output




Dry Run 5:

Name:

choice

valid

start

currentNumber

runningTotal

False

Output

The output is: 120




Dry Run 6:

Name:

choice

valid

start

currentNumber

runningTotal

False

Output




Dry Run 7:

Name:

choice

valid

start

currentNumber

runningTotal

False

Output




Name:



